1. [4 marks] Simpson’s Rule says:

b
[ f(z) do = S2[yo + 4y1 + 2 + dys + .+ 4Yn1 + Unl.
a
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Use Simpson’s Rule with 4 intervals to approximate [ 47 dz.
1

Round your final answer to two decimal places.
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2. [4 marks| Evaluate f (







dx

Tz
(6z2+1)3

4. [3 ’marks] Find f




5. [4 marks] An object is travelling in a straight line with
a(t) = 4 m/s* and an initial velocity of 8 m/s. At what time is
the object’s displacement equal to 42 m?
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= 2%,z =2andy = 1.

6. [4 marks| Find the area bounded by y




